How to use SNMP to check the error port (RX Frame)

Example on DGS-3650

CLI Example- for RX Frames:

DGS-3650: admin#show error ports 1
Command: show error ports 1

Fort number : 1

R Frames T Frames
CRC Error 0 Excessive Deferral 0
Undersize 0 CRC Error 0
Oversize 0 Late Collision 0
Fragment 0 Excessiwve Collision 0
Jabber 0 Single Collision 0
Dr‘og Fkts 0 Collision 0
1Sympool _Error 0l
Buffer Full Drop 0
ACL Drop 0
Multicast Drop o]
\WLAM Ingress Drop O]

We will separate the RX Frames into 2 parts: public RMON.mib and private LZmgmt.mib
1. RMON.mib (rfc1757.mib)

=y MIE Tree
= ;3 iz0
= ,3 fmorn
= ;3 statistics
- eth
SR

4 etherStatzDataSource

4 etherStatzDropEvents

4 etherStatzDctets

4 etherStatsPlls

4 etherStatzBroadcastPkis

W etherStatsMulticaztPkis

4 etherStatsCRCAlignEmors

4 etherStatslndersizePkis

4 etherStats0versizePkis

4 ctherStatsFragments

4 etherStatslabbers

W etherStatzCollizions

4 etherStatsPlisE40ctets

4 etherStatsPlkisEBto] 270 ctets
4 etherStatsPlkls1 2802550 ctets
4 etherStatsPlkis206t05110ctets
4 etherStatsPkis51 2t010230ctets
4 etherStatsPlkis1024t015180ctets
4 etherStatzDwner

4 ctherStatsStatus

1.1 CRC Error

Ohject name etherStatsCRCAlIgnErrors

Chiject ID 1.3.61.2116.1.1.1.8

Module RMOM-MIE

Base syntax Counter

Cormposed synta Counter

ACCESS Read-Only

Status Mandatory

Parent node etherStatsEntry

First child Mone

Diescription The total number of packets received that
had a length (excluding framing bits, but
including FCS octets) of between 64 and 1518
octets, inchusive, but but had either a bad
Frarme Check Sequence (FCS) with an integral
rurmber of octets (FCS Error) or a bad FCS with
a non-integral number of octets (Alignment Ervar]),

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.8.1  (1=port 1)



1.2 Undersize

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.9.1  (1=port 1)

1.3 Oversize

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.10.1  (1=port 1)

1.4 Fragment

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.11.1  (1=port 1)



1.5 Jabber

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.12.1  (1=port 1)

1.6 Drop Pkts:

SNMP Commands:
# snmpwalk -c public -v2¢ 10.90.90.90 1.3.6.1.2.1.16.1.1.1.3.1  (1=port 1)



2. L2mgmtDGS3650.mib
2.1 Buffer Full Drop

SNMP Commands:
DGS-3650: snmpwalk -c private -v2c 10.90.90.90 1.3.6.1.4.1.171.11.70.5.2.3.9.1.2.1 (1=portl)
DGS-3612: 1.3.6.1.4.1.171.11.70.10.2.3.9.1.2
DGS-3612G:1.3.6.1.4.1.171.11.70.9.2.3.9.1.2
DGS-3627: 1.3.6.1.4.1.171.11.70.6.2.3.9.1.2
DGS-3627G: 1.3.6.1.4.1.171.11.70.8.2.3.9.1.2

2.2 ACL Drop

SNMP Commands:
DGS-3650: snmpwalk -c private -v2c 10.90.90.90 1.3.6.1.4.1.171.11.70.5.2.3.9.1.3.1 (1=portl)
DGS-3612: 1.3.6.1.4.1.171.11.70.10.2.3.9.1.3
DGS-3612G:1.3.6.1.4.1.171.11.70.9.2.3.9.1.3
DGS-3627: 1.3.6.1.4.1.171.11.70.6.2.3.9.1.3
DGS-3627G: 1.3.6.1.4.1.171.11.70.8.2.3.9.1.3



2.3 Multicast Drop

SNMP Commands:
DGS-3650: snmpwalk -c private -v2c 10.90.90.90 1.3.6.1.4.1.171.11.70.5.2.3.9.1.4.1 (1=portl)
DGS-3612:1.3.6.1.4.1.171.11.70.10.2.3.9.1.4
DGS-3612G:1.3.6.1.4.1.171.11.70.9.2.3.9.1.4
DGS-3627:1.3.6.1.4.1.171.11.70.6.2.3.9.1.4
DGS-3627G: 1.3.6.1.4.1.171.11.70.8.2.3.9.1.4

2.4 VLAN Ingress Drop

SNMP Commands:
DGS-3650: snmpwalk -c private -v2c 10.90.90.90 1.3.6.1.4.1.171.11.70.5.2.3.9.1.5.1 (1=portl)
DGS-3612:1.3.6.1.4.1.171.11.70.10.2.3.9.1.5
DGS-3612G:1.3.6.1.4.1.171.11.70.9.2.3.9.1.5
DGS-3627:1.3.6.1.4.1.171.11.70.6.2.3.9.1.5
DGS-3627G: 1.3.6.1.4.1.171.11.70.8.2.3.9.1.5



